
Problem 16.29

A = 7.6 cm2

d = .18 cm

V = 120 volts

a.) What’s E?

b.) What’s C?

c.) What’s q on each plate?

1.



We need to use                     fitted to the situation.  
Assume we start at the positive plate where the 
absolute electrical potential is 120 volts and 
proceed to the negative plate with zero voltage, we 
can write:

A = 7.6 cm2

d = .18 cm

V = 120 volts

a.) What’s E?

b.) What’s C?

c.) What’s q on each plate?

E • d = −ΔV

Edcos0o = − V− − V+( )
   ⇒    E = 

- 0-120( )
.0018m

   ⇒    E = 66,667 N/C

C = εo
A
d

  = 8.85x10−12 C2
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  = whatever

C =
q
Vc

   ⇒    q=CVc

2.


